Final examinations
from previous terms

Two mark questions
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(MATHEMATICS 201-007/00)

9. Finda: 6(z — 3) — 5 = 25.

1. Calculate: 10. Supposel’ = Th + kw. Solve this formulafor w.
(a) V666 (b) v/—101 1 3
) 11. Finda: =
2. Doesz = 8 satisfy3(z + 5) = 39? z+2 dz+1
3. Theworld'slargestsheepanchis locatedin Australia. Therearethreetimes 12. Solwefor z: 3 = L .
asmary sheepaskangaroo®ntheranch,for atotal of 87,000animals.How 8 x-3
mary sheeparethereon thisranch? . _ . 221415
13. Divide usinglongdivision: ———
4. Trevor enjoys agoodparty, like the onelastnight. He thinkshe had8 beers z+3
and24 smoles. Thesmolesto beergatio is what? 14. Factorasmuchaspossible:
5. Combineandsimplify: (@) 1222 — 8z (o) 22 —6z+8
255 3 _ 2
(8) (322)(52%) 0 2o (©) 40° — 4o @ 2%+ 72+ 15
€T 9
© (z=2)* (d) (42® + 22 —7) — (32 + 11) 15. Simplify by factoringout squaresif you can: /25y4

(e) 422322 — 9z + 11)
Three mark questions

6. Combineandsimplify:

®

(4 — 7)(3z + 11) 16. Sketchthegraphofy = 4z — 3.
17. Whatis theslopeof y = 5z 4 11?

18. Find theequatiorof theline through(2, 4) wih slope6?

2 2
@ (2% — 5z +4)(2% + 3z + 1) ®) 7+ T2 19. Whatis the equationof theline through(3, 4) and(—1, 8).
(”’2 + T) 20. Draw thegraphsof z +y = 6 and2z — y = 9 ononesheet.Indicatewhere
© (6m+4> (3m+6> @ z—3 they cross.
2 — 4 3z + 2 z2 + 3z
22 _9 21. Solefor z andy:
(e) V8 ++/18 3r+2 = 14
7. Rationalizethe denominator: 2c +by = 24
10 b 5
@ 75 ® 75 22. Finda: 22 — 11z + 18 = 0.
8. Soheforz: (x+2)+3=x+7. 23. Solwefor z: 522 = 9z + 1.
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